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1. Which of the following sequences-diverge?
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(A) Tonly (B) I and II only (C)I and I1I only
(D) II and IIT only (E) IIT only
Sz

2 Which of the following sequences converge?
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@2{ = C II. 2]; D I1L. 2{ = ¥
(é/) [ only (B) I'and II only (C) I and III only

(D) IT and IIT only (E) III only
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3. Ifazzn 1

, which of the following converge?
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@ [ only (B) IT only (C) Both I and 11
(D) Neither I nor II (E) Not enough information
4. Which of these series converge absolutely?
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(A) I only @I only (C) I1I only

(D) I and I1II only (D) L, 1T, and IIT
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6. Which of these tests will prove the convergence or divergence of
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H/ Limit comparison with ;—
\I;I{. nth Term Test (Divergence Test)

(A) I only @I only @\)I and II only

(D) II and III only (D)1, 11, and III




s If an is known to diverge, and a <5 _for all values of n, then we can
n=1

conclude:

(A) zan converges

n=l

(B) Z a_ diverges

n=|

(C) 2 b converges

n=l

(D) limb =0
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@\ o conclusion can be drawn from this information
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8. If f(x)=x", find the value of Zf(x) when x=2.

n=2
4 &
A) 2" -4 2
(B) 9-2" S, )
(C). 9n’ = 2%t 7+ 2
) ) 28
E) 31 =Y % 54l




0. Which of the following limits will lead to a conclusion for a series test?

I_s/ lima,=0 @1 lim ZetL = 0 (II hm——

n—o° n—ee an n—9=>°

(A) I only (B) IT only (C) I and III only

(D)) and TII only (E) 1, 11, and TIT

A) 2 (B)“% © -1 (o % (B) divergent
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L: Use the Integral Test to determine if Z
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is convergent or divergent.
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2. Does the series Z-——T—— diverge, converge conditionally, or converge
n=2 n

absolutely? Show the work that leads to your conclusion.
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3. Use the Ratio Test to determine if z 1 1
n=l 1

is convergent or divergent.
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4, Determine whether z : converges or diverges. Explain your
n=l
reasoning.

=1

BT CAVSE

v\_“‘ _ A
i 4(3)
L ik

. ™ W \
ol Z g C oNNEL2EES 3T CAUSE
A= e T5gdn) A

1T \s 4 CEOMENRIC

; 2\ | 4L (o, rces
C.) Q/V\ID (:\.J?./ts_. TZ.J *_—;?—- % [E3 C_\--i\ ol 2 4

Series WiTH [+ |

[T s L&

CoIVEL CErT

STziex



